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5| mB | EM (%Eke)| B | SfE | PiE | RE |5 | RE | Eh | BEKe | Hfi| SfE HiE | RiE
1 [BIES kg 1 |®HIFEs 1kg
2 |E=Ff 1ke 2 | = g 364| 1ke 2,268 864
3 KA 1kg 3 [KBAhh kg
4 |=1E BE-A 235| kg 2,776 259 4 |=iF 1kg
5 |HL RI& 107 kg 2,916 918| 5 |HL 1kg
6 |[LybL =pll] 45| kg 356 324| 6 |LvbL 1kg
7 |35H0\h | EN-EE 48| kg 810 648| 7 |$5HL v 1kg
8 |SAFE kg 8 |SAFE 1kg
9 |3Y = 107|  1kg 3,024 486| 9 | &Y 1kg
10 |&ZL 1kg 10 [&ZL ke
11 |[h26 = 61 1kg 972 918| 11 |[/h2b 1kg
12 |7=Ly =5 372| 1kg 1,458 432 12 [#=Ly 1kg
13 [[FFEDE FiE 50| kg 832 13 |IFFES kg
14 |AALLy kg 14 | ALY kg
15 B8 1kg 15 |58 deiE 23| 1kg 2,754 1,620
16 |AM< kg 16 |AM< kg
17 |AU” B4 EST 29| kg 2,700 17 [ZU 1kg
18 [YLyh RI& 12| 1kg 3,024 18 [YLyh 1kg
19 |f=C JLiEE 15]  1ke 3,240 19 |£=C 1kg
20 |ME kg 20 | A= kg
21 |HEY kg 21 |HY 1kg
22 | RARHWP 158 22 | RAHYP | ZE 40| 158 17,280 2,160
23 |HWEHYP | B 74| ke 2,484 2,106| 23 |ETEHD kg
24 |SHE BH-hE 265| kg 6,102 4,374| 24 |5%F kg
25 |ISLET ke 25 |ISLET 1kg
26 |HFEZ kg 26 |HFEZ kg
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5| mB | EM (%Eke)| B | SfE | PiE | TE |5 | RE | Eh | BEKe | Hfi| SfE HiE | RiE
1 AT FU- TV 309| kg 2,862 918| 1 [{&=1F F)-IN— 1,516] 1kg 1,512 756
2 |AhIZ 0y7 - B 5 35| kg 4,730 3,024| 2 |ExF = FE 278| 1ke 1,318 810
3 |BAY TV hHS 579| kg 3,672 2052| 3 |iESAFE 1kg
4 |AFLbL| BiE 112] 1ke 886
5 |BASHL Ri& 156| 1#& 292 130
6 [BYDHA Z50 215| 1ke 2,700 2,376
7 |Ih&F kg




